1)  Findx.
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3) In AABC, EF||CB. Find x.
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2) Find x.
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4)  Determine whether BC||DE.

AD=15,D0B =12, AE=10,and £EC= 8
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Hwk #26 Answers:
1. Arc BC=Arc YZ.BC =YZ

2. Arc ET = Arc GH = Arc JN = ML. ET = GH = JN = ML. Angle TFE =
Angle HFG = Angle JKN = Angle MKL.

3. 14 4. 2 5.7 6. 50 7.8
8. 10 11. 6 12. 54 13. 8.9 14. 12.5

15. 9.9 16. 20.8

Find the value of x.
105 ) 5—X - IDD
X= 2|
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Section 12.2
Congruent Chords have Congruent Arcs

Congruent Arcs have Congruent Chords

FG=JH then TFG=JH

° Key Concepts Theorem 11-4

Within a circle or in congruent circles
(1) Congruent central angles have congruent chords.
(2) Congruent chords have congruent arcs.

(3) Congruent arcs have congruent central angles.
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. 2h= 2|
P
85° Y| — If a diameter (or radius) is L to a chord, X
B N > [ = L/'/Y t5 then it bisects the arc and chord. A 5
C i
85° X=l1=2 ;
Y=Y



What is x?

ALGEBRA In ®F, AB = BC, Be_
DF =3x — 7,and FE = x +9. qs.i

Classwork --
Practice 12.2 Worksheet

IXL#15-U.5 & U.7

ALGEBRA In ®S, LM = 16 and
PN = 4x. What is x?
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